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(if EF E) conditional
(cons F E) pair
(car E) car
(cdr E) cdr
(lambda (z*) E) function
(E E*) application

(let ((x ED*) E) let
(letrec ((z E)*) E) letrec

+EE) addition
(-EE) subtraction
(xFE E) multiplication
(=EE) equality

&K EE less than

(> FEE) greater than
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e (myeval ’(let ((p (cons 1 (cons 2 ’())))) (cons O p)))
a3 0 1 2)

o (myeval ’(letrec ((f (lambda (x)
Gf (=x0) 0 (+x (f (-x1)))))) (f 5))
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o (myeval ’((lambda (£f) (lambda (x) (f x))) (lambda (x) (+ x 1))))
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e myeval "(letrec ((f (lambda (x n)
GAf =Ex 0 n (f (-x1) (+nx)))) )) (f 999999 0) )"
A3} 499999500000

e myeval "(letrec ((f (lambda (x)
Af (=x0) 0 (+ x (£ (- x1))))))) (£ 999999))"

23} 2 F(Stack overflow during evaluation (looping recursion?).)
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(mcons F F) mutable pair
(mcar FE) mutable car
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| (mcdr E) mutable cdr

| (set-mcar! E E) change first elem
|

(set-mcdr! F E) change second elem
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e myeval "(let ((mp (mcons 1 2))) (mcar mp))"
43k 1

e myeval "(let ((mp (mcons 1 2)))
(let ((tmp (set-mcdr! mp 3))) (mcdr mp)))"
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e myeval "(with-handlers
(((lambda (x) (= x 5)) (lambda (x) (* x 2))))
(cons (+ 1 3) (- 2 (raise 5))))"
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e myeval memo "(letrec ((fib
(lambda (n) (if (=n 0) 0 (if (=n 1) 1
(+ (fib (- n 1)) (fib (- n 2))) ))) )) (fib 100))"
Z 3} 1298777728820984005

e myeval memo "(let ((x 1))
(let ((f (lambda () x)))
(let ((y (£))) (Qet ((tmp (set! x 5))) (+y (£)))NN"
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